Simplifying Expressions (E)

Simplify each expression.

.2 — 1480y +24y* + ux — 58 — 7+ 58ux

—

ab?z 3612uz’
2. u-b*-—=.(—10)-43
“ o (710 43ut— s

6478axy 418xy

3. -37x-
* —82xy +xy-38 ry
31b
4. bx-(—x)—ﬁ—l—b—|—78bx—vx—|—1

5. 447 —c-v—1—vy— 100+ 53v — 66¢y
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Simplifying Expressions (E) Answers

Simplify each expression.

.2 — 1480y +24y* + ux — 58 — 7+ 58ux
= ¢* +24y* + 59ux+ 80y — 66

ab?z 3612uz’
cu-b*-—=.(—10)-43
“ o (T10)-43ut 8622
— —4300°u’ 7 + 42uz

6478axy N 418xy
—82xy  xy-38
= 407x*y — 79ax

-37x - xy

31b
. bx-(—x)—_—31—|—b—|—78bx—vx—|—1

— —bx*+T78bx —vx+2b+1

4472 —c-v—1—vy—100+53v — 66¢y
— 447> — cv — vy — 66¢y + 53v — 101
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